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1.A Campaign developer wants to create a drop-down listing cities. 
Which enumeration should they use? 
A. Dbenum Enumeration 
B. Free Enumeration 
C. Set Enumeration 
D. Open list Enumeration 
Answer: C 
 
2.Adobe Campaign has out-of-the-box namespaces. 
What are two of these namespaces? Choose the two correct answers. 
A. xtn 
B. ncm 
C. xkt 
D. xtk 
E. nca 
Answer: A,D 
 
3.What is the correct way to define enumeration? 
A) 

 
B) 

 
C) 

 
D) 

 
A. Option A 
B. Option B 
C. Option C 
D. Option D 
Answer: D 
 
4.A developer wishes to merge the value of two different columns within the target dimension. 
@firstChild & ©secondChild, into one column separated by a space. 
What is the tight expression for this use case? 
A. concat(@»firstChild. ©secondChild) 
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B. concat(@firstChild. ©secondChild. " ") 
C. JuxtWords(@firstChild, ©secondChild) 
D. JuxtWords2(@firstChild, ©secondChild) 
Answer: A 
 
5.When following Content Management creation principles, what is the best practice when defining the 
identification key of the schema, form, and publication template? 
A. Use the same namespace 
B. Use the same namespace and internal 
C. Use the same label and internal name 
D. Use the same label 
Answer: A 
 
 


